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— YNORDA AV TINORM 722
When he picked up a nx°x» while working

OVERVIEW

The X713 gave various explanations why the 7X°%n of an >3y 72v (or 1nX
172v7) belongs to them, instead of their master. X237 explained that the 7Iwn
is discussing a case where the 72y was \NIX>n QY AX°¥» 72w (so since he
caused no loss to the owner, he may keep the X>¥n; otherwise (if he was not
NOKYM av 7°aan) it would belong to the owner. M90IN reconciles ¥27 with a
Xn»12 which seems to indicate otherwise.

mMooIn asks:
— N292YN NNN (3,10 97 PYITRT NNIP P92 NINT XD 9NN ON)

And if you will say; that which we learnt in the first P22 of Pw17°» noon

regarding an ;759277 RR, that -
— *N2T NN NN 9990 Na9Y >hYva 99w Zhrany nnNosn

What she finds belongs to her father, and the 75©2 25w belongs to her

master; how can we establish this ruling according to X2 -
— 1YV 99V XY ININDN DY NN ONT

For if she picked it up while working (it did not prevent her from her

work), then there is no 779¥a "W; how can the Xn»"1 state that 7279 7902 W -
— Sn93Y1NY ANNOYM )9 ON ININYN BY N3N KY ON)

And if she did not pick it up 1no8%» 2y, meaning that she stopped working,

in that case, her 78>%» belongs to her master. How can we reconcile both these
rulings (that ;7°2K% 7nX°¥» and 71277 7902 10W) in one case?

N1B0IN answers:
1119399 HAPNA NRYNY T8 INT ONDT MY Y

And one can say; that there (in that Xn»72) it is certainly necessary to

" The 72y did not waste any time from his work while picking up the 7X"¥».

% The father sold (only) her work. Therefore he retains her x>xn.

? The ®n>™ 2 is presuming that she stopped working when she picked up the ix>%. The loss of work must be
compensated for (by the father).

* X2 established our 73w» (of 121 172¥ NX*¥M) in a case of WNIRYM OV AX¥M 772, and chose not to explain it
according to the other interpretations (of X2X 72 X7 " or X959 27); presumably because he felt they were
unusual situations. It should follow that according 27 this Xn™12 (in ¥17°p) is also discussing (at most) a
case of 1NoX?1 Oy AN ¥ 72w (but certainly not 121 N9 2p1), therefore MooIN question arises.

> X271 explains the only reason that the 7X°¥2 of an 7*12y77 7K is 7wy is if she picked it up 7NIX"M oy;
otherwise it belongs to the master..

1

TosfosInEnglish.com



232 7"7 'on K,20 "2 702

establish it in a case where she was piercing pearls.® The mx>xn belongs to her
father since the owner does not want her to pick up a nX*¥» (since usually its value is less
than that of her work), however the value of the wasted time must be paid to the master.’

SUMMARY
827 agrees that by a n17371 2211 72v the nX°¥n does not belong to the master,
but the 72 must pay 7902 70w to the master.

THINKING IT OVER

1. If the 72y (or nnX) picked up the 7X°¥n not NIX?1 2y, does the owner
receive: a) the X*¥n, b) the 77V 75w, ¢) the greater amount, or d) the smaller
amount?

2. X2 is required to establish the Xn>92 of 7127% 7%V 70WY 772K ANKR°¥N in a
case of N3 napn.® It is therefore obvious that the 2°in do discuss such a
case. Why then does X217 choose not to establish our 71wn also in a case of
o3 3P (like the xn»02)?°

6 21 agrees with the ruling of 73" "1 K X"an" (that by n193» 271 the X% belongs to the 7av); however
he prefers to establish the 71w in a case of NIR?M OV 7X*XA 7°237 rather than N3 2PN, See footnote # 4.
See ‘Thinking it over’ # 2.

" See prw 7"7 ",

¥ See footnote # 6.

? See nmonT PYN.
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